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QUESTION 1

Identify three requirements fulfilled by nonstandard work orders. 

A. Rescheduling 

B. Repair 

C. Rework 

D. Prototype 

Correct Answer: BCD 

 

QUESTION 2

Your customer plans to use Oracle Representational State Transfer (REST) API with Oracle Supply Chain Management
Cloud (Oracle SCM Cloud) to support integration requirements. Identify four REST resources and the corresponding
HTTP action available with Manufacturing Cloud. 

A. Work Order Status GET method 

B. Work Orders GET method 

C. Work Order Status POST method 

D. Work Orders PATCH method 

E. Resource transaction POST method 

F. Resource transaction GET method 

Correct Answer: ABDE 

 

QUESTION 3

A Manufacturing Engineer in a plant is creating an alternative manufacturing process for an item using its existing Work
Definitions. After copying from the existing Work Definition WD1 to the alternative Work Definition WD2, the engineer
finds that the operation items were not copied in the alternative manufacturing process WD2. Identify the reason. 

A. The Production Priority was not populated in the new Work Definition WD2 during creation. 

B. The Item and Structure Name in the existing Work Definition WD1 were retained in the new Work Definition WD2 as
well during creation. 

C. The Item and Structure Name were changed in the new Work Definition WD2 during creation. 

D. The Start Data was not populated in the new Work Definition WD2 during creation. 

Correct Answer: D 
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QUESTION 4

Your customer wants to mass create and modify Work Definitions and the relevant operation, items, and 

resources available in the spreadsheet. 

Which two operations are not supported using ADFDI (Oracle Application Development Framework 

Desktop Integration)? 

A. Create Work Definitions 

B. Update Work Definitions 

C. Create and update ATO (Assemble To Order) model work definitions 

D. Populate Descriptive flexfields 

Correct Answer: CD 

 

QUESTION 5

A customer has a distribution warehouse (DW) for After Sales and Service and an in-house manufacturing plant (MP).
Sales orders are created and shipped from DW. Identify the two Sourcing Rules that need to be set for order promising
to schedule the order. 

A. Define Local sourcing rule for organization MP: Source Type Make At, Source MP 

B. Define Local sourcing rule for organization DW: Source Type Make From, Source MP 

C. Define Local sourcing rule for organization MP: Source Type Transfer To, Source DW 

D. Define Local sourcing rule for organization DW: Source Type Transfer From, Source MP 

Correct Answer: AD 

 

 

QUESTION 6

In what three ways can you set the overcompletion tolerance for a subcomponent yield, so the job order can report the
excess production completion? 

A. Overcompletion Tolerance Type = Amount, value > 0 

B. Overcompletion Tolerance Type = Amount, value = 0 

C. Overcompletion Tolerance Type = Percentage, value = 100 

D. Overcompletion Tolerance Type = Percentage, value > 0 
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E. Overcompletion Tolerance Type = Percentage, value = 0 

Correct Answer: BDE 

 

 

QUESTION 7

To reduce the subassembly stock with no impact on material planning of child components of the 

subassemblies stock, you need to modify the multilevel item structure of a product. 

Identify the action that meets this requirement. 

A. Change the Supply Type = Push in Item definition and Work Definition, for subassemblies having high inventory
stock. 

B. Change the Supply Type = Phantom in Item definition and Work Definition, for subassemblies having high inventory
stock. 

C. Change the Supply Type = Assembly Pull in Item definition and Work Definition, for subassemblies having high
inventory stock. 

D. Change the Supply Type = Operation Pull in Item definition and Work Definition, for subassemblies having high
inventory stock. 

Correct Answer: C 

 

 

QUESTION 8

A Production Supervisor queries a Work Order (WO-1025) from the manage Work Orders page. On the 

Entering Edit Work Order: WO-1025 page, he finds General Information, Operations and History tab, but 

not the Reservations tab. 

Identify the two reasons that can cause the Reservations tab not to be displayed. 

A. Work Order (WO-1025) is not a Configured item Work Order. 

B. Work Order (WO-1025) is not a Back-to-Back Work Order. 

C. Work Order (WO-1025) is not a Drop-Ship Work Order. 

D. Work Order (WO-1025) is not a Pick-to-order Work Order. 

E. Work Order (WO-1025) is not a Plan-to-produce Work Order. 

Correct Answer: AC 
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QUESTION 9

In a manufacturing cloud implementation, production operators want to perform work order updates using 

Dispatch List. 

Identify two tasks that the Dispatch List allows the production users to perform. 

A. Report Component Returns 

B. Report Resource Transactions 

C. Report Receipts 

D. Report Material Transactions by Quantity and Serial Number 

E. Report Cost Transactions 

Correct Answer: BD 

 

QUESTION 10

In your customer\\'s manufacturing facility, different types of Movement Requests are created. Key manufacturing
components are issued to the work orders form the manufacturing subinventory. The manufacturing subinventory
receives its supplies form the Warehouse subinventory through automatically created Movement Requests. Which type
of Movement Requests should you use to fill the manufacturing subinventory form the Warehouse subinventory? 

A. Batch Wave Movement Requests 

B. Pick Wave Movement Requests 

C. Replenishment Requests 

D. Requisition Movement Requests 

Correct Answer: D 

 

QUESTION 11

While creating an item in Product Information Management (PIM), the following two item templates are selected in
sequence and applied. 

1. 

Template: Finished Goods (WIP = No, Customer Ordered = Yes) 

2. 

Template: Sub-assembly (WIP = Yes, Customer Ordered = No) 

Identify the Item Attribute values in the application. 

A. WIP = Yes, Customer Ordered = Yes 
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B. WIP = Yes, Customer Ordered = No 

C. WIP = No, Customer Ordered = Yes 

D. WIP = No, Customer Ordered = No 

Correct Answer: C 

 

 

QUESTION 12

The Manufacturing Engineer, responsible for creating and maintaining the Work Definitions, has scheduled the Process
Item Structure Changes to Work Definitions program. However, after the execution of the program the engineer did not
receive a notification with the details of the Item Structure changes. Which two reasons could cause this? 

A. The engineer does not have Data access to Items Attributes. 

B. The engineer does not have Data access to Items. 

C. The engineer does not have Data access to Manufacturing plant in which the Item Structure change was performed. 

D. The engineer does not have Data access to Item Structures. 

E. The engineer does not have the Manage Work Definitions function privilege. 

Correct Answer: CE 

 

QUESTION 13

The production user wants to report Work Order completion. Identify two ways of reporting the progress of work order at
work order operation level. 

A. Change Move status to Ready. 

B. Complete using quantity completion 

C. Complete with Details 

D. Quick Complete 

E. Change status of Operation to completed 

Correct Answer: CD 

 

QUESTION 14

A plant runs 24x7 daily using three continuous shifts of 8 hours each. One unit of an equipment resource R1 is assigned
to each of the three shifts. On a specific work order, the resource R1 is required to work for 2 hours. The resource is set
up with an efficiency of 50% and utilization of 100%. R1 is scheduled to start on the given work order at noon. What time
will R1 be scheduled to finish, assuming no calendar exceptions have been set? 
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A. 8:00 PM 

B. 12:30 PM 

C. 2:00 PM 

D. 4:00 PM 

E. 1:00 PM 

Correct Answer: D 

 

 

QUESTION 15

A Work Center created a month ago is no longer in use now. You want to remove the Work Center; 

however, the system is no allowing you to delete it. 

Identify three reasons for this. 

A. There are resources associated with the Work Center. 

B. The Work Center is being referenced in the Closed Work Order. 

C. The Work Center is being referenced in the Open Work Order. 

D. The work center is being references in the work definition operation. 

E. The work center is being referenced in the Work Area. 

Correct Answer: ACE 
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